JL_

Finding Division Remainders

Name:

Use multiplication rulesto determine the missing remainder for each problem.

1) 485+10=48r

3) 481+5=96Tr

5 28:5=57

7) 250+2=125r

9) 89+2=44r

11) 1,844+10=184r

13) 347+5=69r

15) 418+2=209r

17) 794+10=79r

19) 567+10=56T

2) 145+5=29r

4 66+2=33r

6) 8,117+5=1,623r

8) 9,278+5=1,855T

10) 564+10=56T

12) 940+2=470r

14) 354+10=35T

16) 26+5=57r

18) 26+2=13r

20) 2,674+2=1,337r
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C:h Finding Division Remainders Name: Answer Key

Use multiplication rulesto determine the missing remainder for each problem. Answers
1) 485+10=48r 5 2) 145+5=29r O 5
1.
2 0
3 481+5=96r 1 4 66+2=33r O 1
3
4 0]
5 28+5=5r 3 6) 8,117+5=1,623r 2 ] 3
6 2
7) 250+2=125r O 8) 9,278+5=1,855r 3 ; 0
8 3
9 89%:2=44r 1 10) 564+10=56r 4 o 1
10. 4
11) 1,844+-10=184r 4 12) 940+2=470r O " 4
12 0
13) 347+5=69r 2 14) 354+10=35r 4 1 2
14. 4
15) 418+2=209r O 16) 26+5=5r 1 0
15.
16. 1
17) 794+10=79r 4 18) 26+2=13r_ 0 17 4
18, 0
19) 567+10=56r 7 20) 2674+2=1,337r O 19 7
20. 0
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